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These equations will be provided on Exam 2: 

R = 8.314 J K-1 mol-1 = 0.08314 L bar K-1 mol-1 

T(K) = T(°C)+273.15 

1Pa = 10-5bar 

Temperature change  S CV ln T
T1

2 or Cp ln T
T 

2

1

⎛
⎜
⎝ ∂

∂ 
T
S ⎞

⎟
⎠ p 

= 
C
T

p ⎛
⎜
⎝ ∂

∂ 
T
S ⎞

⎟
⎠V 

= C
T

VΔ =  

qrev vap 
Reversible phase change, e.g. ΔSvap =

p = ΔH 
Tb Tb 

( X + X ln X )ΔSmix = −nR  X  A ln A B B 

H = U + pV A = U – TS G = U + pV – TS 

U ( )  S V ⇒ dU= TdS , − pdV


(  )  ⇒ dH  = TdS  +Vdp 
,H S p  

(  )  ⇒ dA = −SdT − pdV,A T V 

, ⇒ dG = −SdT +VdpG T p ( )  

ΔGo = −RT  ln K Δ = Δ o + RT  ln QG Grxn p rxn 

ΔH o ⎛ 1 1 ⎞rxn ln K2 = ln K1 + ⎜ − ⎟R ⎝ T1 T2 ⎠ 

, o ( )  g T  ln p (p in bar) S(p,T) = So(T) – nR ln p  (p in bar)μi (g, T p) = μi , + RT  i 
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